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B | The utility-maximizing ¢ombination of goods occurs when
5
. A the marginal vulity of aach good is equal
b. the wial wtiliy of sach good is equal
€. the quantity consumed of each good is egual |
F d. the amount spent on cach good is equal
¢. the marginal wiility per daollar spent on «ach good is equal
2 As long a5 the firm is not operating inefficiently, which cost always increases with
L increases in outpun? T
4. marginal cost -
- b. average fized cost
<, 1otal fixed cost 10
10 d, average vonable cost 1
B e. tota] variable cost
E 3 & perfectly competitive firm will produce at an economic loss (megative profit) in the short
run rather than discontinee production if thers is a rate of output at which price =
3, eacesds average varnable cost
b, exceeds avernge fixed cost =
I~ c. exceeds average total cost
d. exceeds marginal revenues |
L e. equals marginal cost
= 15
15 L 4 Asthe price paid (o a specific resource increases
| 3. the supply of this resource will increase in the resource market =
b. the supply of the resource will decrease in the resource market
c. reseurces will shift from ather resource markets to this one i
- d. - resoueses will shift from this resource market to others
€. resources usage will be unaffected
2 Firms will increase their investment in capital
F a, eithercord
b, eitherdore i ]
0L €. aslong as the marginal mie of rewm is less than the market rate of interest
d. until marginal rate of retum equals the market mte of intorest
| & aslong as the marginal rate of rewumn exceeds the market mte of interest -
k. 6 Which of the following would nor be included in the expenditures method of caleulating =
Gop?
.
— 1. cansumplion (personal consumption expenditures)
b. investmenl {gross privaie domestic investment)
| <, government purchases {government consumption and gross investment) 1
d. compensation of employees (wages and salaries)
= €. nel expons {expons minus impors of goods and services) e
7 Which of the fallowing would best represent aggregate expenditures in an open cconomy -
- {i.e.. international wrade rakes place) and an aetive government?
a C+G+(X-M : -
B b C+l+(X-M
e C+l+(X+M -
= d C+I+G+(X-M
g C+l+G+(X+M
|
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[f an additional 5100 is spent en investment and in the next round of speiding, we have an
increase of 575, and assuming each subsequent round of spending follows the same pattern,
the muluplier would be

0
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In the short run, if the economy has less than full employment and powntial output and the
aggregate supply curve shifis gutward, shen

price levels decrease and output increases
price levels increase and oulput decreases
price levels decreace and outpul decreases
price levels increase and aurpat inereases
price levels and output levels remain unchanged

ppege

What effect would an increase in resourcs casts have on aggregate demand and nggregats
supply?

agpregate demand unchanged and aggregate supply shifts outwand
aggregane demand unchanged and awgregaie supply shifts inward
aggregate demand shifis ourward and no change in aggregue supply
aggregate demand shifis inward and Ao chunge in daggresate supply
aggregate demand and aggragate supply shift ourward

pERoOR

IF raxes change, consumption spending a1 each level of GDP

rises by the decrease in net taxes limes the average propensity (o consume
talls by the decrease in net taxes times the marginal propensity 1o consume
rises by the increase in net taxes limes the marginal prapensity 1o consume
riscs by the decrease in net taxes limes the marginal propensity to consume
will fall or rise depending upon how much net taxes decrease

penER

An example of a capital expenditure in the present fac which shifting the cost 1o future
generations through deficit fnancing might be justified because those futwne generitions
will also share in is benefis is

Social Secunty

interest on the debe
welfare

a highway

the school lunch proeram

pofnoR

The largest companent of M1 is

time deposits

coins and cumency combined
checkable daposis

SAVINEs accoumls

money market accounts

PapoR

An increase in the money supply is most likely to increass planned investment by causing

adecrease in the prices of capital equipment
a decrease in the rate of interest

an increase in the prices of consumer goods
a decrease in the excess reserves of banks
an increase in the value of the dollar
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Which of the following statements most accurately reflects the views of those who advocae
an active approach to govemmental economic policy?

ik
.

c.

the private sector is relatively stable and will comrect itself if blown off course

. the privale sector 1% relatively unstable bur governmental policy can’t do anything about

econemic problems when they arise

sometimes the economy is stable and sometimes not, but cither way the best policy for
government is 0 do nothing

the private sector is relagively unstable and when there are economic problems the
government should intervene to get the economy bick on track

careful use of governmental cconomic policy can reshape the economy o as [o create
permanent cconomic stability and constant full employment
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